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B.Com. (Part - II) Examination, 2022
(Old Course)

(Group-I : Accounting)
PAPER FIRST

CORPORATE ACCOUNTING

Time : Three Hours] [Maximum Marks:75

 


Note :Attempt all the five questions. One question
from each unit is compulsory.  All questions
carry equal marks.

1 / Unit - 1

1. 


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
      


      
'A'


'B'



'C''A'



Rajesh Ltd. issued a prospectus inviting applications
for 40000 shares of  `10 each at a premium of `2
per share payable as follows : on application `2, on
allotment `5 including premium, on first call `3, on
second call ̀ 2. Applications were received for 60000
shares and allotment was made pro-rata to the appli-
cations of 48000 shares. Money paid on 12000 shares
was fully paid back. Money was paid on application
was employed on account of sun due on allotment. ‘A’
to whom, 800 shares were allotted, failed to pay the
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allotment money and on his subsequent failure to pay
the first call, his shares were forfieted after the second
call. Of the shares forfieted , 'B' the holder of 1200
shares failed to pay the two calls, his shares were
forfieted after the second call. Of the shares forfieted,
1600 shares were sold to ‘C’ credited as fully paid, for
`9 per share, the whole of ‘A’s shares being included
in the shares re-issued. Pass necessary Journal en-
tries in the books of company.

 / OR

(A) 
 

What is “Capital redemption fund account”? For what
purpose its amount can be utilized?

(B)  

Distinguish between Bond and a Debenture.

2 / Unit - 2

2. 


Give specimen of Company’s Balance Sheet in lat-
est form according to the Company Act.

P.T.O.
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 / OR

         


    

 `

 

 

 

  

 



 

      





    

 

  

 



    

   

 

 

 
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    

     


%
%




From the following particulars you have to prepare
an account (which will be placed in the meeting of
shareholders) in accordance with the instructions of
the liquidators:

Balance Sheet of the Company (as at 01.01.2020)

Particulars Amount ̀

1. Equity & liabilities:
Shareholders' fund
Share Capital
1000 pref. Shares of ̀ 100 each on
which only ̀  70 called up 70000
4000 Equity Shares of 100 each
on which only ̀ 80 called up 320000

[6]
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loss-up to date (Profit & Loss A/C) (100000)
Non-current liabilities:-
Bank loan (secured by Machine
and Buildings) 150000
Current liabilities:- Trade creditors 260000

Total 700000

2. Assets:-
Non-current assets
Fixed assets (Machine & Buildings) 400000
Current assets:- Debtors 300000

Total 700000

Assets were realized as follows 01.04.2020; Fixed
assets `100000 debtors `100000; liquidation
expenses `4000; 01.06.2020: fixed assets- (last)
`200000, Debtors `100000, 01.08.2020; Debtors
(last) ̀ 50000 liquidators remuneration is 5% realized
amount– (Excluding total amount of securities with
Bank for loan) and 2% on the amount given to equity
shareholders, but he does not get any commission on
the amount of realized by the Bank, prepare liquidator’s
statement of Account on the assumption that payments
are made in the order of receipts as per law.
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3 / Unit - 3

3. A 
 

How the goodwill is valued under super profit
method?

B        
 

Give the formula for calculation of goodwill by
Capitalization of super profit method.

 / OR



x 

 `

(I) 

(1) 

 

% 

 

P.T.O.
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 `

 `

 

  

 

   

(2) % 

(3)  

  

(II)



 
  

  







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 


 


 


The following is the Balance Sheet of X Ltd. as at
31.03.2021.

Balance Sheet of X Company (in `)

Particulars Amount .

(I) Equity & liabilities

(1) Shareholders' fund

(a) Share Capital

2000, 6% Pref. Shares of ̀ 10 each 20000

6000, equity Shares of `10 each 60000

(b) Reserves & Surplus

General Reserve 10000

Loss: Preliminary exp. 6000

Discount on debentures 2000

P.T.O.
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Profit & loss 12000 20000 (10000)

(2) Non-Current liability:- 7% Debenture 10000

(3) Current liabilities:- Creditors 20000

Total ` 100000

(II) Assets:-

(1) Non-Current assets:-

Fixed assets  102000
(-) Depreciative Fund 2000 100000

Total ` 100000

Assets are worth their book-Value. Dividend on the
pref. Shares are two years in arrears. Debentures in-
terest is owing for one year. Find out the Value of
shares.
(a) When pref. Shares have priority for repayment of

Capital only.

(b) When pref. Shares have no priority for repayment
of Capital and dividend.

(c) When pref. Shares have priority as to payment of
Capital and arrears of dividend.

(d) When pref. Shares have no priority for Capital but
for arrears of dividend.



[11]

F- 3037

4 / Unit - 4

4. 


What do you mean by amalgamation in the nature of
merges and nature of purchase? What is the differ-
ence between the two?

 / OR



 `

(I) 





 

 

 

% 

 
 

 

P.T.O.
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(II)

  

 

 

  
 
  ( )` 



i         
     


ii 


iii 

iv %

v 

         

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Following is the Balance sheet of R Ltd. as at 31 March
2021.

Particulars Amount̀

(I) Equity & liabilities:-
Shareholders Funds:-

Share Capital:-
2000 pref. shares of `100 each 200000
4000 Equity shares of `100 40000

Profit & Loss A/C (245000)
Non-Current liabilities:- 5% Mortgage

debentures 100000
Current liabilities:- Bank  overdraft 50000

Creditors 100000

Total ` 605000
(II) Assets:-

Non-current assets:- Goodwill 15000
Premises  200000
Machinery  300000 515000

Current liabilities:- Stock    50000
Debtors    40000 90000

Total ` 605000

P.T.O.
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The company got the following scheme approved by
the court:-

(i) The pref. shares to be reduced to 75`  per share
fully paid-up. Equidy shares to ̀ 37.50

(ii) The debenture holders took over the stock and debt-
ors in full satisfaction of the amount due to them.

(iii)The goodwill account is to be eliminaed.

(iv) The premises is to be depriciated by 50%.

(v) The value of the machinery is to be increased by
`50000.

Pass the entries in the Journal for the above and
prepare revised Balance Sheet.

5 / Unit - 5

5. 


Explain the various schedules/Annexures which are
prepared for Balance sheet of Bank and given its
specimen.

 / OR



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( in )`

  

(I)





  

  

  

 `  
(II)

  


  

 `  



`

The following are the Balance sheet of Suresh Ltd.

P.T.O.
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and its subsidiary Seema Ltd. on 31st March 2021.
( )`

Particulars Suresh Seema
Ltd. Ltd.

(I) Equity & liabilities:-

Shareholders' Funds:-

Share Capital:-

Equity shares of ̀ 10 each 96000 45000

Profit & Loss A/c 24000 (10000)

Current liabilities:-

Creditors 18000 27500

Total (`) 138000 62500

(II) Assets:-

Fixet Assets:- 90000 62500

Investment:-

36000 shares at cost
in Seema Ltd. 48000              —

Total (`) 138000 62500

On 1st April 2020 Suresh Ltd. acquired the Share in
Seema Ltd. At this date seema Ltd. has credit Balance of
profit & loss account of `7500. Prepare consolidated
balance sheet.


